
I	multiplied	each	term	by	three	to	get	to	the	
next	term	in	the	sequence.

The	rate	of	change	gets	larger	by	a	
magnitude	of	three	each	time.		

I	subtracted	four	from	
the	previous	term	to	
get	the	next	term	in	
the	sequence.	

The	rate	of	change	goes	down	
by	four	units	each	time.		Its	
constant	and	forms	a	straight	
line	on	the	graph.

I	added	30	from	the	
previous	term	to	get	to	
the	next	term	in	the	
sequence. Marked	

with	x's	on	
the	next	
page	graph.

The	rate	of	change	on	the	
graph	remains	the	same	
from	each	point	to	the	next,	
going	up	30	units	each	time.



The	rate	of	change	on	the	graph	increases	
much	more	each	time.		It	starts	slowly	and	
then	increases	dramatically.

I	multiplied	the	previous	term	of	the	
sequence	by	5	to	get	to	the	next	term.	

I	noticed	that	the	
differences	
between	each	term	
increased	by	one	
each	time,	so	I	
added	the	next	
number	in	the	
differences	to	the	
sequence	to	get	
the	new	term.

I	think	the	graph	will	curve	
slightly	because	the	rate	of	change	
between	each	term	in	the	
sequence	is	not	the	same,	so	it	will	
curve.		However,	it	won't	curve	as	
much	as	it	did	in	the	other	ones	
because	it	only	goes	up	slightly.




